Calculate Percents of Decimals

1.38 x 40% =

0.61 x 50% =

9.1 x10% =

4.97 x 50% =

7.01 x 50% =

3.03 x 60% =

9.21 x90% =

0.76 x70% =

3.07 x70% =

5.59 X 90% =

Date: Score:

0.58 x 50% =

7.03 x 90% =

3.42 x770% =

747 x90% =

5.23 x30% =

3.25 x 80% =

9.95 x 50% =

2.24 x 90% =

5.81 x40% =

2.78 x30% =
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Calculate Percents of Decimals

1.38 x 40% = 0.552

0.61 x 50% = 0.305

9.1 x10% = 091

4.97 x 50% = 2.485

7.01 x 50% = 3.505

3.03 x 60% = 1.818

9.21 x 90% = 8.289

0.76 x70% = 0.532

3.07 x70% = 2.149

5.59 x90% = 5.031

Date:

0.58 x 50% = 0.29

7.03 x90% = 6.327

3.42 x70% = 2.394

747 x90% = 6.723

5.23 x 30% = 1.569

3.25 x80% = 2.6

9.95 x 50% = 4.975

2.24 x90% = 2.016

5.81 x40% = 2.324

2.78 x 30% = 0.834
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